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Il Semester 3 Yr. LL.B./VI Semester 5 Yrs. B.A.LL.B./B.B.A. LL.B.
Examination, June/July 2015
FAMILY LAW - I
Mohammaden Law and Indian Succession Act

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answer Question No. 9 and any five of the remaining
questions.

2. Question No. 9 carries 20 marks and the remaining
qguestions carry 16 marks each.

3. Answers should be written either in English or Kannada
completely.
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Q. No. 1. Enumerate the differences between Sunni and Shia regarding
marriage, dower and divorce. Marks : 16

) T3y bodn HEE AmE, SREe gy DueReDe), BT
FeAnes amon.

Q. No. 2. Define and distinguish between valid, void and irregular marriages
under Mohammaden law. Marks : 16

RBR0CD HIRT BRODY, ATF, Ze7, BBy FTRWIBLT
DVTNET) TR Ty FTAA. |

Q. No. 3. Whois a Muslim ? What are the consequences of colourable
conversion ? Discuss with the help of decided cases. Marks : 16

WO OIRTY ? QeI TITENG STDA0T TG0 [IT0STH

TVOTOWNGD 2RO,
b P.T.O.
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Q. No. 4. Whatis legitimacy and legitimation ? Enumerate the conditions
of valid acknowledgement. Marks : 16

TWORE Ry WOREeTTED OTWTER ? ‘DT RTF FOWORRTOZ
QU ROZNMIRY, DRBOR.

Q. No. 5. Under what circumstances the dissolution of Muslim Marriage
Act 1939 was passed ? Enumerate the grounds stated therein. Marks : 16

oINS #E\F@d@w BORY DN é)z@)edé 5203 1939 @Rbmedﬁ
JoWTO ? WTWTRODE BRT FTONIN Q& é)za';edﬁ
TEOWBOTD ? 0D

Q. No. 6. What is the significance of succession certificate ? State the
procedure to obtain it. Marks : 16

IORT TIT B 9 emm) BN FHodHows),
SPR0.

Q. No. 7. When a person can seek intervention of a court to protect the
property of the deceased ? Explain. Marks : 16

5%35 @éoﬁogﬁg{ TOTOBREO 030N dgoﬁmdrg’p mﬁoﬁfa@ojxj
ma; @ﬁeéxbé)éodaa’;g{ BRETWIT ? D=OR.

Q. No. 8. Write short notes on any two of the following. Marks : 2x8=16
03 TIOTTR ATEE OO 23359 29B00.

a) Differentiate talaq and divorce
BT WIBY WD miedﬁoﬁaﬁg{ RIZRR

b) Private wagf and Public waqgf
3TN [, PY AT WIT [T

c) Will and gift.
BT, Y TS,
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Q. No. 9. Solveany two of the following problems. Marks : 2x10=20
BENT 0INYTIOTTR TR zﬁda:%ﬁ@édg{ TOTOR.

a) ‘A’ has 3 children, John, Mary and Henry. John died leaving
2 children, Mary died leaving 3 children, Henry also died leaving
behind 4 children. One of Mary’s child died leaving 2 grandchildren.
Thereafter A dies. Distribute the property among them.

AT F0RTd BB, W, B0 B B0, 1D 2 BFIR Wk,
ST BRODTRD, 0¢0 3 WoTHRD Wed), [T BRODTI, 0e00
200 SN 2 SBER) 200, s30T BROOTRD &Y TIO 4 FIR,
2, FTED TRODTR0. WS FoTT A’ 3000 BRODTRD. ‘A’ RO,
QBT IEOT B3O,

b) ‘A’ an Indian domicile dies in UK leaving movable property in UK
and America. Property both movable and immovable in India.
Determine the succession to his property.

‘A’ P02 SO0 QOROETIE) @ITEH BRODTITD. L9530 QN0
T 00T WILZT BROOTZ. AT R0 LT LPTSTR,
BRODTRO. IT SYOD WVBTEOHR), DJCR.

c) X’ executes through a registered will on his property to his sons.
There after he met with an accident and on deathbed he want to
change his will, thereby he wrote a new will on a white paper and
died soon after. What is the effect of this will ? Explain.

X B3 S0 Wi, BZ WFIR WO TETRT SROTHCWATD.
33 J03T a0 @wma’% WETRTRY. FOINRD doaéoi R0 TR
RITITIRIRR) PO ToeoD #ed BB B3Iy PSR AT
wammmf@ QWOR.




